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The 73w should state gwbw — bW NIy

OVERVIEW

The X3 asks why the mwn writes (2°917) w9wa which is feminine'; it
should have written (2°297) nw>w2 which is masculine. Moo explains why
the X773 prefers the masculine form over the feminine.

3o mmmRI 997 PIRRa T TN Yo7 2w wys
The explanation of the question 7w5Ww *1n°91 is that 7wHw is preferable since
the entire 7710 was said in the masculine form.

SUMMARY
When there is a choice, one should use the masculine form since the entire
7770 is written 237 PWHA.

THINKING IT OVER
The term w170 (usually) indicates that M50 is negating another (seemingly
simpler) explanation. Which explanation could n191n be negating here?”

"' In wTPn Y the masculine and feminine forms of the numbers two through ten are reversed. The

numbers ending with a "7 (21 7v27K "w5W) are masculine and those ending without a '77 ("2 ¥27R wW5W) are

feminine.

* The term w110 indicates that the question needs some clarification. Seemingly the question of the X723 is

not understood. It would seem proper to mention the feminine form of w>w, since we are discussing the

modes in which an 7wX is n°1p1. Therefore N1901N explains the meaning of the question.

431 For instance in the 7"7wy it says 72 7°7° X7 and not 72 770 X?; also 7°aR nNX 723, and not >73, etc. etc. etc.
See 1"nR.
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